
A3

DIMENSIONS:

0 PLC
1 PLC
2 PLC
3 PLC
4 PLC
ANGLES

D D

C

B

A

C

B

A

4 3 2 1

OFSCALE SHEET REV

NAME

SIZE CAGE CODE DRAWING NO

TOLERANCES UNLESS
OTHERWISE SPECIFIED:

DWN

CHK

APVD

MATERIAL FINISH

REVISIONS

P LTR DATE APVDDWNDESCRIPTION

C

PRODUCT SPEC

APPLICATION SPEC

WEIGHT

1470-19 (3/13)

RESTRICTED TO

THIS DRAWING IS A CONTROLLED DOCUMENT.

TE Connectivity

CUSTOMER DRAWING

BOW-28-171

N.BASAVARAJ
26AUG2020

C.FRY
26AUG2020

C.FRY
26AUG2020

NTS 1 1 B
SEE PARTS LIST

mm[INCHES] M8 P-TERM

-

2020

00779

TE Connectivity. All Rights Reserved.

B REDRAWN IN CREO 26AUG2020 NB CF

⌀89
[3.50]

76
[2.99]

46
[1.81]

PARTS LIST

ITEM QTY DESCRIPTION MATERIAL

1 1 TRI MOUNT PED M20 ALUMINIUM

2 1 POLY SML NAMEPLATE STAINLESS STEEL

3 4 RIVET OE AL 2.5x7.3 ALUMINIUM

4 1 WASHER SPG M20 SS STAINLESS STEEL

5 3 BOW-M12 INSULATOR POLYMER

6 6 WASHER SPG M12 GAL GALVANIZED STEEL

7 3 WASHER FLAT M12 GAL GALVANISED STEEL

8 3 SCREW M12 X 40 GAL GALVANIZED STEEL

9 3 SCREW M12 X 35 GAL GALVANISED STEEL

10 1 SCREW M20 X 55 SS STAINLESS STEEL

11 1 WASHER FLAT M20 SS STAINLESS STEEL

PART N0.
BM4583-000

 1 

 7  3 

 6 

 8 

 2 

 4 

 5 

 9 

 10 

 11 


	Sheet 1
	Views
	new_view_1
	new_view_2
	new_view_3



